Name
Total L@

15 Match.
)|

trainers socks shirt T-shirt ﬁ_E

2) Circle.

5 |
g I'm/ You're
wearing a skirt.

1 I'm/ You're
wearing a hat.
I'm/ You're

3 % i I'm/ You're 4
wearing trousers. wearing jeans.

(@

3) Listen and number (1-4). |

§£0 2.0 %o 7.0

9. Look at activity 3 and circle.
1 (a) Is he wearing a jacket?  Yes, he is. / No, he isn't.

2 (b) Is she wearing jeans? Yes, she is. / No, she isn't.
3 () Is he wearing glasses? Yes, he is. / No, he isn't.
4 (d) Is she wearing a dress?  Yes, she is. / No, she isn't. (Ta)

usLIVEWORKSHEETS



